






Find odd word/ number from the four given alternatives.

A. Shimla 
B. Darjeeling 
C. Ooty
D. Agra

दिए गए चार दिकल्पों मे से दिषम शब्द/सों ख्या ज्ञात कीदिये।

A. दशमला B. िादििदलों ग C. ऊटी D. आगरा



Find the ODD one(?)

A. 3425
B. 4541
C. 5661
D. 6783



Find the ODD one(?)

A. 9 , 36 , 81 
B. 32 , 64 , 85 
C. 55 , 135 , 165
D. 35 , 63 , 78



Find the ODD one(?)

A. 2424
B. 8261
C. 6354
D. 4248



Find the ODD one(?)

A. 792
B. 692
C. 198
D. 990



Find the ODD one(?)

A. 2  8  4 
B. 8 32 16
C. 3 12 6 
D. 5 45 15



Find the Missing :-

A. 175
B. 164
C. 185
D. 154

12 07 95

14 08 132

16 09 ?



Select the option that is related to the third number 
in the same way as the second number is related to 
the first number. 

12 : 68 : 21 : ?

(A) 49 (B) 117 (C) 119 (D) 79



Select the option that will come next in the following 
series.
उस दिकल् का चयन करें िप दनम्नदलखित शोंख्र ला

मेंअगला पि हपगा।

BOP, DPN, FQL, HRJ, ? 

(A) JSH (B) JSI (C) ISH (D) ITI



Select the term that will come next in the following series. 
उस पि का चयन करें िप दनम्नदलखित शोंख्र ला मेंअगला आयेगा।

0, 3, 4, 5, 6, 9, 10, 11, 12, 15, ?

(A) 16 (B) 17 (C) 14 (D) 18



Select the Venn diagram that best represents the relationship 
among the given set of classes. 

Students, Teachers, School / छात्र, दशक्षक, सू्कल



Select the word pair in which the two words are related in the 
same way as the two words in the following word-pair. 

Season: Winter / मौसम : सिि

(A)Week : Calendar /सप्ताह: कैलेंडर

(B) Summer : Autumn /ग्रीष्म: पतझड़

(C) (C) Year: Century / िषि: सेंचरी
(D) Month : April /माह: अपै्रल



Which letter will replace the question mark (?) in the following 
series? 
दनम्नदलखित शोंख्र ला में प्रश्निाचक दचन्ह (?) केस्थान पर कौन-सा अक्षर

आएगा?

A, B, E, J, Q,?

(A) A (B) Y (C) X (D) Z



A piece of paper is folded and punched as shown below in the question figures. From the 
given answer figures, indicate how it will appear when opened? नीचेदिए गए प्रश्न मेंकागि
केएक टु कडे़ कप दििाया गया है दिसे मपड़कर छेि दकया गया है। दिए गएउत्तर आकृदत में से उसे

इदगोंत करें िप िपलने पर प्रश्न आकृदत ि ैैसा दििाई िेगा?



‘China’ is related to “Yuan’ in the same way as Japan’ is related 
to______. 

(A) Rand (B) Sushi (C) Lira (D) Yen

'चीन‘का सोंबोंध युआन से उसी तरहहै िैसे 'िापान‘का '________' से

सोंबोंदधत है।

(A) रैंड (B) सशुी (C) लीरा (D) येन



Find the Missing :-

A. 96
B. 76
C. 58
D. 29

19 78 20

25 144 47

16 ? 13



If EAGER is coded as 51759 then how will CADET be coded? 
यदि EAGER कप 51759 के रूप मेंकपदडत दकया िाता हैतप CADET कप कै
सेकपदडत दकया िाएगा?

(A) 31452 (B) 34157 (C) 31542 (D) 31453



. If J = 10 and JAM = 130, then JAR = ? 

(A) 170 (B) 140 (C) 150 (D) 180



In a certain code, ‘GRAPH’ is written as ‘JUZSK’. How is ‘CARE’ written in 
that code? 
एक दनदित कपड में, 'GRAPH' कप 'JUZSK' दलिा िाता है।उसी कपड में'CARE' 
कै से दलिा िाता है?

(A) FZTO (B) FZUU (C) FZZD (D) FZUD



Saksham introduced Nidhi to his friend, “She is the daughter of the only 
son of my father’s wife.” How is Saksham related to Nidhi? 
सक्षम ने दनदध कप अपने िपस्त से दमलिाया, "िह मेरे दपता की पत्नी के इकलौते

पतु्र की बेटी है।" सक्षम, दनदध सेकै से सोंबोंदधत है?

(A) Son (B) Cousin (C) Father (D) Brother



Satish is 9 ranks ahead of Ajay in the class of 39 students. If Ajay’s rank 
is 15th from the last, then what is Satish’s rank from the start?
39 छात्रपों की कक्षा में सतीश अिय से 9रैंक आगे है। यदि अिय की रैंक अतों

से15 िी ों है, तप सतीश की रैंक प्रारोंभ सेक्या है? 

(A)18िी ों (B)14िी ों (C)24िी ों (D)16िी



What will come in the place of question mark? 

1440, 240, 48, ?, 4, 2 

(A) 4 (B) 6 (C) 3 (D) 12


